(TT) Tow-Trust Towbars |
’r,“ o \*\'h\ F/y
ESTEP Important: Please read GeTSZT;:I\Izotes overleaf before fitting Flttmg
Instruction
TN15 NISSAN CABSTAR / NISSAN NT400 / RENAULT MAXITY / MITSUBISHI FUSO CANTER
Item Qty Description Item Qty Description
A 1 TN15 Crossmember D 2 M16 x 60 Bolts & Nyloc Nuts
B 2 Side Arms E 20 M10 x 40 Bolts (10.9) & Nyloc Nuts
C 2 Handed Light Board Brackets F 6 M14 x 45 Bolts & Nyloc Nuts
X 2 5mm Spacers For 700mm Chassis Only G 4 M8 x 25 Bolts & Nyloc Nuts
H 40 10 x 25 Flat Washers
J 12 14 x 27 Flat Washers
K 8 8 x 25 Flat Washers
L 2 88.9mm O/D Black End Caps (RTi1164)

TOWBAR INSTALLATION:

1. Remove the two fixings securing the lighting board to the left hand chassis bracket, remove the mounting
bracket from the chassis (this is no longer required).

2. Using Item E and Item H fix Item B and Item C to the left hand chassis.

3. Using Item G and Item K fix Item C to the lighting board.

NOTE: It may be necessary to adapt the original lighting board brackets and not use Items C.

4. Repeat above instructions for the right hand side.

5. Using Item F and Item J fix Item A between ltems B (750mm Chassis).

6. Using Item F and Item J fix Iltem A on the outside face Items B sandwiching Item X between them. (700mm
Chassis)

7. Using Item D fix your desired ball bracket (not supplied in this kit) to the mounting plate.

8. Fully tighten all fixings ensuring the Towbar is rigid, square and secure.

6x FIXINGS /\\

Qussan

N

Cabstar / NT400

¢

RENAULT
Maxity

10x FIXINGS

MITSUBISHI
MOTORS

FUSO Canter

750mm Chassis Set Up Above
Side Arms, NO Spacers Fitted To
The Outside Of Towbar Plates

700mm Chassis Set Up Above
Side Arms & Spacers Fitted To
The Inside Of Towbar Plates

Notes:
1.  For Torque settings see general notes overleaf.
2. Nose load limits and vehicle manufacturer’s trailer / caravan weight limits must be observed.




